1 . 7 = ;C % T X o AGE> LC VoA
° s - 5 I I
STOP!5—kDV . = AW I L ZzF8HHE2>2F LIS H
. 4 ) ?E'Tg ¢§5ih‘¢EQL:E!ETBﬂ§ﬁHf‘
P XBEFNSORNDILE'F—RDV EBATIET, . L A = ’;& _ L/ 2 /N B I % Z < A P
. RNEBED IBEITRBUEBASEEDEILIEEES KET s B =\ g 7t 1 & 5 % I EN AN A
o BBD WELEIHEMN<FIVILERTS(BHNRN) EULEREE | () £ £ = S 2= bT B N z d o4 13
°  IHLGEEMRN) . MTAERETS BILAL (KRN BEAEOAN o = U 23 = X2+ b ) & D~
: EEBERLIZTAETY, ° =S [ L‘- ﬁ X Li L | [6) yq P }DJU V) 7z B _
v RMTAIL=ERMTEAUITAMFLGESEASOMEREEDS () L <R s = F 0
o WHBEWHNBELEABLSBBRERES LA, A Ir & 2L 200 D %) # 2 A e
°*  ELBBIEPAYDANBATIES —ATHETHHLTZS Y, . 5 by T AL z D EX 5 Ey h o= i -
: - ' = ALY T B g AE Lgnpnhd?
 ORMITHTIENIHTHERED ° z GEAPEE X . B H 5
o DV.Zh—%H— 1 S ‘ — vy X b & By [ o=
o mEEARTHDVIESERESE (B~ 8:30~17:15)  TEL 328-3322 o & %) 3; ; 47 AN W & 12 & I3 * n 7
T WERAFENSE (B~ 8:30~17:15) R TEL 328-2301 ° 4 D PN %3 52 L = x C &
o # X TEL367-9127 ° = J\ VAN SE T 1h z = LS
) f X TEL329-5403 ° e — N 1 =F L 15 S A A
. B X TEL357-4129 ° AE 4 S 2] H = < = 2 2
d t & TEL272-1118 73 A 4 » ERN = 4 <L o z <
®  EEAELMASEYy— (DVER) TEL 381-7110 . Ve X i - N gy =y = s &
1 (B~ 8:30~22:00,£H# 9:00~22:00) . 2% > > 7 ™ C f % 0 ,|v_}; =
o  WEARESAMEEZLMANE (24BBG)  TEL 383-9110 A 18 N -~ A h oA o F B
#9110(F v a8 P B - {2 Bl L 2
: b IS $ 5D Yz 2y T rBE
P =3 % Y ) S
[ ] N
o BBICHBIFBEINS - vHNSHEH : 5 1B C‘E ;; % % § :(2 / Z 7EE
° mEANBBERES H%=(B~2 8:30~17:15) TEL352-3865 T 465 L;—, . RE & "
: ERRIREIORSEELE1108A ° 5 iy '/li—‘lj Jg b % § % 775 ;-72 g Eg
................................. — N = N d~ N

BHEE%) () 1 T (C A8 A WS
0 20 40 60 80 (:i X %7 ﬁilé B§ 7N REZNT JatTéw$D3EF(2021EfE)DV7FE KEEUIOOTH T HIE
E— 1 THEE 309 1 B (1,1440) 0 S LE e, AR Z IS £ > 5 — (- 51 B 183k
e ‘ rEic £ 2 5T (67O T. 25 5 IFRIEE (6561) 1 S20¢4HEMLTLVET, G
RBEORARIE HBONES RORECHITDBREBE, EE B 10 D A —rov
IS IC 5B BEOBEDELN50.1%] L B 7] 1= 1500 BEL
BB BB ROV Il NS AN RS e YR
I=T NS NBRCHE, SHCHORIATSMASE P 159.1%] & 7 = M 1200
RBE AL LR 55 ELHEOR C = = IE
(8<% RE. FHERRTZE)(33.9%] | AN A
| 2D iR 5B 900
#& Eg(%mzsgrmuea%l E & 25 47
FUE, 57 .1 25— *;mawmﬁoﬁw B 3 — 3t 600
T;(éfuﬂa’tb\éc.th 7.2%] ‘ Z
ZoM2.1%]
= 300
E 1 1 1 1 1 1 J

0
H27EE H28FE H29%E HI30FE SHMTHEE R2HFE R3IFE

04 03




